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All BA-T500 BA-T500, BA-T500M.
I, 1l :
6) 11) o
1 1.1
5) : a
6) : s
2 1.2
2) 3)
3 1.3
2) s
4 1.6
6 2.1.1 RS-232
Handshaking: CTS/RTS o
8 2.1.1 Pin 8 (CTS) o
9,10 2115
16 2.1.2.6 :
DIP SW 2-8 .... s
18 221
22,23 2.3
25 3.1
GS (K Kaniji @
41 3.3.21DIP SW 1
SW No. 4 CTS.RTS o
44 3.3.2.10 8
SW No.1 2 3.3.2.11 a
SW No. 5 *2 a
52 3.11.3
4) , o
109, 110 | GS (K “
143-150 | 5.4 o
App.1 A.l
A.l o
App.3 B P
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All BA-T500, BA-T500M ® BA-T500
v
BA-T500M ® BA-T500
150 mm/second ® 150 mm/s
VI - IX ( )
1 1.1
(dpi: 25.4 {1 (e ), ¢ ® Ips (Ips: )
M-540, M-530, M-520, M-510 ® M-T540, M-T530, M-T520, M-T510
3 v ( )
4 1.6
+24 VDC + 10% ® +24.0 VDC * 2.4V
6 2.1.1 RS-232
(bps: ) )
7 2.1.1, SW3 ® SW1-3
11 2.1.1.7
1 msec® 1ms
15 2.1.25 [ ]
tHold-1 ( ) tHold-2 ® tHold, Table ( )
22 2.3.1, mm/sec ® mm/s
25,26 | 3.1 ( )
40 3.3.1 Panel buttons ® Buttons
41 3.3.2.3, BPS ® bps (bps: )
42 3.3.2.5, M-540, M-530, M-520, M-510 ® M-T540, M-T530, M-T520, M-T510
44 3.3.2.10, 57 8¢ )
45 3.4 Panel LED Indicators ® 3.4 LED Indicators
48. 49 T 3.7.2 3.7.3, sec® s
56 4.1 External Dimensions and Weight ® 4.1 External Dimensions and Mass
64 DLE EOT n
5 6,
130 GS 3, 6 ( )
143 5.4 ( BA-T500M)
® 5.4 ( BA-T500 )
146 FS 2, ( ) ( )
App.2 A.2
24V +10% ® 24V £ 2.4V
App.12 F M-T500
mm/sec ® mm/s,
All BA-T500 ® BA-T500
\ B® B C
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22 2.3.1 PS-170

EpsonPC ... ( )
43-46 6 ( )
50 3.7.1
70°C ® 75°C, 60°C ® 70°C
57 3.12.1 BM , ,
2mm ® 0.5 -2 mm
102 GS FF
[ ] 6 ()
112 GS (K
[ ]-6EMEG® -10Em £ 10
123 GS E
[ 1 ()
125 GS |
[ID ] bit1Off ()
All “
®
®
®
v
GB50007-85 ® GB2312-80
41 3.3.2.1
(N )EM® (2
43 3.3.2.3 ® 3.33 ( )
50 3.5

3.11 ® 3.10

59 3.11.1 BM
3.3.2.2 ® 3.3.2.1

70 | DLE ENQ
[ ]- e ()

90 | ESC{

[ ] e ()
106 |GS$

[ ]1311® 3.10
117 | GS (M

[ ] ® NV
129 |GsL

r 1 . ()
130 |GST

[ 1 e ® -« ee L
134 | GS\

[ ]1311®3.10
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143 GS k
[
3.11.3 ® 3.10 ,
Appl3 G H (
— App20

BA-T500




1)

VIN 27.0 \%
Tstg -25t0 70 °C
Hstg 0to 90 %
2) BA-T500
Vp 21.6 24.0 26.4 |V
Topr 0 -- 55 °C
( ) Hopr 10 -- 80 %
3)
4) ] -]
5) @
6)
7) “
NO.

EPSON

BA-T500




8)

9)

10)

11)

EPSON

BA-T500

C )

NO.




2. (a)

N

ook w

EPSON® ESC/POS®

(b)

EPSON

BA-T500

NO.




BA-T500: BA-T500 M-T500

1
BA-T500 °
CANK)
[ANK]
2) BA-T500 :
BA-T500 4 “
JiS1 2
GB2312-80
BIG5 1 2
: KS C-5601C
( 2 )
3)
M-T510/T520/T530/T540 BA-T500 o +24 « )
BA-T500 DIP @
H 150 / (59 / ) ] 9 ’ 17 y ] 70 Elps:lo
4)
ESC/POS® o
64 . o
> ( ) (
) (1)
(12" 24 97 17) =
*1. o
5)
(IEEE 1284)-
(RS-232).
DIP o
NO.

EPS ON BA-T500




6) BA-T500 Rev.B Rev.C
BA-T500 Rev.B Rev.C, B
BA-T500
“REV. B” BA-T500 “

( “REV.B” “REV.C", REV. A)
BA-T500
REV. B F

- BA-T500 Rev.B / Rev.C

Rev. A REV.B/ REV.C
RS-232 DTR/DSR CTS/IRTS
RS-232
DIP SW2-8 /
- Rev.C Rev.B p
NO.

EPSON B A




0 TP PTRUPPTUPPRPPPN 1
0TSRRI UPPRRPPN 2
0 TP UPPRRPPN 2
PP UPPRPIN 4
0 PP UPPRN 4
0 PPN 4
L7 e e ee e eet e eeet e eea e eetee e et e et e et ee e aea e aataaean e e aaes 5
© ettt eeeeeeeeeeeeeeeteeeeseeeseeeteeeeseeetneetneeeneeeteeetn e etan ettt e et e et et e et e eat e eeanaaean s 6
22 P 6
O T T 6
2.1.2 |IEEE 1284 ( ) e 12
22 PP UPPT PPN 18
2 PSP UPPIN 18

2 2. e e et e e e aaas 18
2% J PR 19
0 PP 20
2725 S 20
2.2.6 e e e e e e et e e e a i eaaen 21
2.2.7 PP UPPTSPPT 21
228 T PP UPP T UPPIN 22
2.3 L P S -L70 et aes 22
......................................................................................................................................... 24

0 PP PPT PP 24
G 7 PSPPSR 27
3.2.1 Page 0 (PC437: , ) ( : ) e 27
3.2.2 Page 1 ( ) TP UP PRSPPI 29
3.2.3 Page 2 (PC850: )PSO 30
3.2.4 Page 3 (PC860: P 31
3.2.5 Page 4 (PC863: - ) e 32
3.2.6 Page 5 (PC865: ) et e 33
3.2.7 Page 16 (WPCIL252) ...ttt ettt ettt e e e e et e e e e e aees 34
3.2.8 Page 17 (PC866: 272 35
3.2.9 Page 18 (PC852: ) I PP 36
3.2.10 Page 19 (PC858: ) e et et e e e e e e e aan e aes 37
3.2.11 Page 255 (SPACE PAGE). ... ccuuuiieiiieiii et 38
20 1P 39

G 40
T 0 S 40

3 3.2 DI et 41
e 0 PSP PPPIN 43
Bid LE DD e et et e a e eaaas 49
7 PP 50
3.6 0 o PPN 51
R PP 52
0 52
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TN T PP PPPPTTTT 53
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PPN 54
G 70 0 PP P TP 55
R 700 10 1t PRSPPI 55
B 00,2 s 55
3L 00,3 e 56
700 0 PP PP PR PRPRPRN 59
3111 2] TSP PTTTTT TR RRPPPPPPPI 59
3.11.2 BV e 59
00 5 PP PPPPUPPPPPTTPRI 59
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B S et 86
T O 1Y I o TR PP RPTPRPI 87
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E S S o e e 88
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ESC A Moo e, NG 94

EPS ON BA-T500 i

Vil VI




T O o o 96
S O o o T 97
S O o o 97
S S T 98
S O T 99
S o 0 T 0 O PP 100
FSqgn[xLxHyL yH d1...dk]1...[xL XH yL YH d1...dK]N....coovmiiii e 101
LS 104
L o 104
(1T 3 o1 I o ISP 106
LTSI (2N o I o] o 2 S 107
GS (E PL PH M [PArAMELEIT ...ttt et et e 108
GS(EpLpHmMd1ld2 (whenm = 1) <FUNCHON 1>.... ..o 109
GS(EpLpHMdLd2d3 (Wwhenm = 2) <FUNCLON 2> .. ...coiiiiiiiiiiiiiieee e 109
GS (E pL pH m [al b18...b11]...[ak bk8...bk1] (when m = 3) <Function 3>......................... 110
GS(EpLpHmMa(when m =4) <FUNCLON 4> ... ..o e e 111
LTSI (o I o o = o I o 112
LTS T (G o IR o o 2 S 113
GS (KpLpHNmM (When n =48) SFUNCLION 48> .........uiiiiiiiiii i e e 114
GS (K pLpHNmM (when n =49) SFUNCLION 49> ...t e e e e 114
LTSI (A o1 = = T 0 T 0 115
GS (MpLpHNM ((N) =1, 49) SFUNCHONL> ... e e 116
GS (MpLpHN M ((N) =2,50) SFUNCLION 2> ... .o e e 116
GS (MpLpHN M ((N) =3, 51) SFUNCLION 3> ..o e e 117
GS ™ X Y AL (X Y B iiitiiiiiiiii ettt et e e e 118
LT 12T 119
L 120
LT 2 T o 121
LS O 0 T o 1 122
(S O - V- TN o I o o T 123
LS O | N o 124
LS T O 7= =Y o T ] o ] ] o 125
LT o 126
LT T o T 127
LS T o 128
LT I o | o 129
L1 T o 130
O S TV 1 T € 1S TV 1 o o 1R 131
LTS TV o o T 132
LT N o o 134
LTS TR o 135
(CI I T o P PP PR PRPTPRN 136
LT o o 139
LT 140
LT o 140
LT 0 T o 141
OGS KkmdL...dk NUL @GS KM N dL..cdN coouunieiiieiiiici e e e e e e et e e e e eenaees 141
(CI T N 1 T PP PP PTPRPEN 146
SSvy oy H e 47
GSW N v e e NO. i, 148
EPSON
E Vi v
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5.4 ( BA-T500 ettt e, 149

T PP 149
S 2P 150
S T o PP 151
TP 152
FS 2 CL C2 ALK oo 153
S T O o PP 155
ST T o 1 0 PP 156
S T o PP 157
A App.1
Bl App.3
e App.4
5 P App.5
E: COD E L8 o e App.8
F: M0 e e a e App.12
Gl e App.13
H. e App.18
PP App.21
NO.

EPS ON BA-T500 i




1.1
9]
2) : 203 dpi ~ 203 dpi (dpi: 25.4 {1 }
)
3)
4)
M-T540 (82.5 {3.25 } ) 80 {3.15 } (640- )
M-T530 (79.5 {3.15 ) ) 72 {2.99 } (576- )
M-T520 (60 {2.36 } ) 56 {2.21 } (448- )
M-T510 (58 {2.28 } ) 54 {2.13 } (432- )
5)
A 8 ( ) BA-T500
M-T540 (82.5 ) 53 71 26
M-T530 (79.5 ) 48 64 24
M-T520 (60 ) 37 49 18
M-T510 (58 ) 36 48 18
6) C I A: 0.25 {0.0098 }
@ )
B: 0.25 mm {0.0098 Y@ )
0 {0 Y@ ) )
( 0.125 {1/203 } )
7) : 40 Ips (lps: )
( 30 A )
150 / {6 / }
70 /{3 / } o
8) : 150 / {6 / }
9) [ 1 30 (3.75 {0.15 b
( 0.125 {1/203 } )e
NO.

EPSON o E

( ) 2 1




1) : 95
128 ~ 11
( )
37
2) Az 12 7 24 ( 2- )
9~ 17 ( 2- )
24~ 24 ( BA-T500
3) :
1.2.1
W HC D)W HC D[W HC D [WIHC D
A 127 24 1.25 ° 3.0 1.25 ° 6.0 2.5 3.0 2.5 6.0
B 9° 17| 0.88 ~ 2.13 0.88 ° 4.25 1.76 ~ 2.13 1.76 ~ 4.25
24~ 24 3.0° 3.0 3.0 6.0 6.0 3.0 6.0 6.0
64 o
1.3
1)
. . . . . Approximately
? 0.06 mm
Center of Head
1.3.1 { 79.5 /82.5 )
NO.
BA-T500
EPSON .
( ) 3




E EEEE ———
, SpEEE =

Approximately

257 448 0.06 mm
1.3.2 ( 58 /60 )
257 448 1 256
0.06 p '
- 58 443 448 .
. 120 / =
2)
1 1 ( :I 1
EnnnEEEN e
T T T Approxmately
Head 1/4 Center of Head Head 3/4 0.1 mm
1.3.3 ( )
1.3.3 0.1
' 50 / -
NO.

EPSON o E

(




1.4

1) / ,
+1 {#0.04  }.
2) +1
o ( -4 {0.16 P
3) ;
FFe
4) .
1.5
4K
1.6
1) +24.0V £ 2.4V
2) 4V ):
M-T530/T540 (80 / 82.5 {3.15 /3.25 }
9 A
14 A
7 A
11.5 A
4.5 A
5.5 A
0.1 A
M-T510/T520 ( 58/60 {2.28 /2.36 } )
6.5 A
10 A
5 A
8 A
3.5 A
5 A
0.1 A
NO.
BA-T500

EPSON




1) 0 - 55°C
-25 - 70°C ( )
2) 10 - 80 % RH ( )
(80 %RH 34°C)
10 - 90 % RH ( )
80 3
e : °C 589
> X
I :
Rl
> / X
£ 50 P78 & -—i-- o a0
7 '
. s
£ /
.2 / ; ; ; X m : Print quality is guranteed
T
©
m 7
10 : j @ + : Operating is guranteed
0 . . . ' . . . ) '
0 5 10 20 30 40 50 55
Ambient temperature (°C)
1.7.1
NO.
BA-T500

EPSON




2.1
2.1.1 RS-232
2.1.1.1
CTS/RTS, DTR/DSR  XON/XOFF
MARK =-3  -15V: “1"/ OFF
SPACE=+3 +15V: “0"/ ON
4800, 9600, 19200, 38400 bps
(bps: )
8 [ ]
1 1
1
( D-SUB9 L
DIP e 0 3.3.2
la
2.1.1.2
/ a
1) [ ]
2) “
3) o
4) a
5) [13 LL] o
6) o
7)
NO.
BA-T500

EPSON




2.1.1.3

211
2.11
2 RXD
3 TXD
4 DTR 1) DTR/DSR ' = SPACE
1 MARK o
Memory 3.323 )
Memory SW1-3
1. -
2. -
3. R _
4, —
5. v " - —
6. —
7. - —
8. - (1)
2) XON/XOFF
= SPACE
o SPACE :
=]
o
5 SG
NO.
EPSON AT
E




2.1.1

6 DSR p
SPACE +  MARK a
DTR/DSR ' [ DLEEOT GS
a jc-
XON/XOFF : a
DIP o ( 3.3.2 e
7 RTS DTR
8 CcTS R
SPACE +  MARK -
DTR/DSR ' [ DLEEOT GS
a :lo
XON/XOFF ’ p
*1: 128 ’ e [ puffer full") »
i * 256 s
NO.
EPSON PATE
E




2.1.1.4 XON/XOFF

XON/XOFF ’ XON  XOFF p
3323 1 =
2.1.2 XON/XOFF
XON @) '

@ [13 n

@ J—

@ DLEENQ1 DLEENQ?2 —

XOFF ®
@ —
XON <11>Hs XOFF <13>H o
® 1 s XON o
® ' » XOFF .
2.1.15
(BA-T500)
D-sub9 D-SUB9
1 (NC) DCD 1
2 RxD « RxD 2
3 TxD % TxD 3
4 DTR \/ DTR 4
5 SG / SG 5
6 DSR - DSR 6
7 RTS >< RTS 7
8 CTS - CTS 8
9 (NC) RI 9
NO.
BA-T500

EPSON

10




(BA-T500)
D-sub9 D-SUB9
1 (NC) DCD 1
2 RxD RxD 2
3 TxD TxD 3
4 DTR DTR 4
5 SG SG 5
6 DSR DSR 6
7 RTS RTS 7
8 CTS CTS 8
9 (NC) RI 9
2.1.1.6 H 1-3
1) H ’ ’ [
2) ON GS a ASB
o » GSa n
3) DLE EOT o
’ DLE EOT «
’ DLE EOT
4KB ’ GSr1l o
NO.
BA-T500

EPSON

11

10




2.1.1.7 H

DIP , 6 e [ 3.3.2 . DIP
2.1.3
DIP
6 (DSR) DSW 2-7: SPACE
6 (DSR) DSW 2-8: MARK
2.1.4
6 (DSR)
VA -15to 3V
VN +31t0 +15 V
1A 5.3 mA ( )
IN 5.0 mA ( )
RIN 3 KW )
TRS 1 ( )
6 (DSR) (DIP 2-7 )
RS
SPACE
MARK
2.1.1 ( 6)
6(DSR) DIP 2-7 ' -
6 (DSR) LDIP 2-8 JF
RS
SPACE
MARK
2.1.1 ( 6)
6(DSR) DIP 2-8 ' -
NO.
BA-T500
EPSON :
( ) 12 11




2.1.2 |IEEE 1284

[cl 1994

Engineers, Inc.]

( )

o (Copyright (C) 1994 by the Institute of Electrical and Electronic

2.1.2.1
( = Centronics )
@
Centronics o
2
8
nStrobe
nAck
TTL
ADS-B36BLFDR176 (Honda) (IEEE 1284 B)
3
/ o
1) (nlnit)
2) o
3) o
4) o
5) ! ESCc4
1
6) o
7) o
2.1.2.2 Reverse ( )
=]
(aNibble) o
o
NO.
BA-T500
EPSON E
13 12




2.1.2.3

1 Host nStrobe HostClk HostClk
2 Host/Ptr DataO(LSB) DataO(LSB) DataO(LSB)
3 Host/Ptr Datal Datal Datal
4 Host/Ptr Data2 Data2 Data2
5 Host/Ptr Data3 Data3 Data3
6 Host/Ptr Data4 Data4 Data4
7 Host/Ptr Data5 Data5 Data5
8 Host/Ptr Data6 Data6 Data6
9 Host/Ptr Data7(MSB) Data7(MSB) Data7(MSB)
10 Printer nAck PtrClk PtrClk
11 Printer Busy PtrBusy/Data3, 7 PtrBusy
12 Printer PError AckDataReqg/Data2, 6 AckDataReq
13 Printer Select Xflag/Datal, 5 Xflag
14 Host nAutoFd HostBusy HostBusy
15 NC ND ND
16 GND GND GND
17 FG FG FG
18 Printer Logic-H Logic-H Logic-H
19 GND GND GND
20 GND GND GND
21 GND GND GND
22 GND GND GND
23 GND GND GND
24 GND GND GND
25 GND GND GND
26 GND GND GND
27 GND GND GND
28 GND GND GND
29 GND GND GND
30 GND GND GND
31 Host ninit ninit ninit
32 Printer nFault nDataAvail/Data0, 4 nDataAvail
33 GND ND ND
34 Printer DK_STATUS ND ND
35 Printer +5V ND ND
36 Host nSelectin 1284-Active 1284-Active
*NC:
ND:
NO.
EPSON E

14

13




H 1. “n” =z

2. @

3. [return sides)

4. TTL 1 o
0.5 P

5. nAck Busy o nAck Busy

o nAck Busy
o)
6. a
2.1.2.4
( -Hs +5 V )
Vou 2.4V 5.5V *04=0.32 mA
Vo -0.5V *0.4 V *lo=-12 mA
lon 0.32 mA - Vor=2.4 V
lou -12 mA - Vo =0.4 V
Vi 20V -
Vi - 0.8V
I - -0.32 mA Vy=2.0V
Iv - 12 mA V,.=0.8V
- H
Von 3.0V 55V
Vo - 20V
NO.
EPSON ST
E

15

14




+5V

Von *2.4V 55V *1ov=0.32 MA
VOL o kK
lon 0.32 mA Vou=2.4V
|OL o k% -
* Vo lo @
2.1.2.5 ( )
DATA Data n X Data n+1 X
nStrobe :‘ /
tSetup tSTB | tHold
Busy ‘{ Peripheral Busy I
I‘
tReady tBUSY
nAck |>
'I‘
tReply tACK tnBUSY
tNext
[ 1 L 1
( tHold 750 -
tSetup 750 -
tSTB 750 -
tReady 0 -
tBUSY 0 500
tReply 0 ¥
tACK 500 10 N3
tnBUSY 0 ¥
tNext 0 -
NO.
EPSON ST
E

16

15




2.1.2.6

: ninit ( 31) « ninit DIP
( #36 nSelectin/1284-Active ), o
TTL
: TRS 50 (
nSelectln
(1284-Active)
) min0 ' min.1 ms
ninit
tf tr
TRS
“n” -]
NO.
BA-T500
EPSON ;
( ) 17 16




2127

: ° 4 /8 .
IEEE 1284 °
» RS-232 , ,
1) 99 ( ASB Yo .
, ( )e
2) ASB ( Yo
, Reverse ’ =
3) ASB : ASB . ASB .
ASB ’ ASB a
( ) s ASB
1 2 3 4
0000 0000 0000 0000 [ 0000 0000 0000 0000
1 2 3 4
® [ 0000 0000 0000 0000 0000 0011 0000 0000
@ | 0010 1000 0000 0000 0000 0011 0000 0000
® | 0000 0000 0000 0000 0000 0011 0000 0000
ASB » ASB 8 @
ASB (D+@+®)
1 2 3 4
ASB  (D+@+®) | 0010 1000 | 0000 0000 | 0000 0011 | 0000 0000 |
+ 1 2 3 4
ASB 0) | 0000 0000 | 0000 0000 | 0000 0011 | 0000 0000 |
4
2.1.2.8 : 1-3
2.1.1.6 1-23 s
NO.
BA-T500
EPSON |
( ) 18 17




2.2

22.1
2.1 P
CN5 CN2
© \ / Ol |o T o
[ ]
221
L] =]
BA-T500 H o
222
=]
1) 2.2.1.
2) Housing: 5195-04 (MOLEX)
5194 (MOLEX)
221
1 GND
2 +24 VDC
3 +24 VDC
4 GND
2.2.2
NOTES: ’ BA-T500 o
(=]
BA-T500 o BA-T500 = o
[} 10A«= ’
=]
NO.
BA-T500

EPSON

19

18




2.2.3

2.2.3.1
O
CN9 19 FFC
CN6 21 FFC
CN7 15 FFC
O
2.2.3.2 FFC
FFC ( , ) o FFC
—
T pitch: 1.25 mm {0.049"}
3.5 mm or more 3.5 mm or more
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50 / 40 % 45 % 58 % 60%
2.3.1.1
Power switch
1;
Approximately
65 mm
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i a o N £ o) §
5 10101} " st g9 [165 [213] [229] [245
i a a a A b n =
6 10110/ " = [1s0] [166] [182] [198] [214] [230] [246
oo e/ U o] A A I b s
70NN T el 1s1] [167] [183] [199] [215] [231] [247
s é 5 é © L I b °
8 [1000| " r=e1” 52| [1es| [184] [200] [216] [232] [248)
e o) ® 4 F - U N
9 1001) " 37 [153] [169] [185] [z01] [217] [233] [249
—TE 0 [~ [T [ [r [0
A 1010V 7 rael  154] [170] [186| [z0z| [218] [234 _[250
1 & % 3 T i U
B 10111 " ol [155] [i71] [187] [203] [219] [235 i [251]
' i £ i 4 g - y
C MO0 ™ o5l [1m6] [172| [188] [204 [220] _[236]_ [257]
i i g l = | Y
D 1100 ™ oyl [157] [173] [189] [205] [221] [237] [253]
‘ A X & ¥ + 1 - "

E 10V 7| [1s8| [174] [190] [206] [222] [238] [254]
: A 5 » q o - ’ SP
FOMN T =" sg] [175] [1o1] [207] [223] [239] [255]

NO.
BA-T500 -

38

37
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3.2.11 Page 255 (Space Page)

HEX 8

HEX[BIN | 1000

1

001

1010 | 1011

1100

l

110

1

111

SP

SP SP

0 [0000]

[144

[160] [176]

SP

192

SP

SP

[240|

1 o001

SP

Sp SP

SP

[145

[161] [177

1193

S

[224]
P

|225

[241

2 {0010

SP

SP SP

SP

SP

[146

162 [178

1194

[226

[242

3 (0011

SP

SP SP

[147

163  |179

1195

SP

1227]

243]

SP

SP SP

4 0100

(148

[164] [180]

[196

SP

[228 ]

SP

(244

Sp

SP SF

5 |01C1

149

[165] 1181

5P

SP

[229

[245

SP

SP SP

SP

SP

6 (0110

[150

1166] [182

|230

[246)

Sp

SP SP

SP

7 |0LL1[

[151

[167] [183

[231

[247

SP

8 |1000

[152

sp SP

[168] [184

_|sP

[232

1248

9 1001

SP

SP sP

|153

[169] [185

5P

%3

SP

SP SP

A [1010|

[154

[170] [186]

SP

(234

B 1011

SP

SP Sp

5P

[155

[171] [187

[235

SP

SP SP

SP

¢ 1100

[156

172] |188

[236

b [110]

SF

[157]

SP SF

SP

73] [189

[237

E 1110

SP

5]

SP SF

SP

[238

F 1111

SP

| [174] 190
SP SP

(159!

[175] 191

SP

[239

EPSON

BA-T500

NO.

39

38
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3.2.12
ASCl )

23 | 24 | 40| sB|5s5c|sp|5E|60| 7B| 7C| 7D | 7E
# | s | @] I \ ] " { | I

# | $ a | ° ¢ § A é b &
# $ § A 0 U A ! o u R
£ls |@]| I \ ] " { | i
| # $ @ E| @ A n P2 [} & ~
# o E A o) A U] é a o) E:} ]
# | $ | @| ° \ é A u | a o | e |
| Pt | $ @ i N & A fi } ~
# | s | @] I ¥ ] " { | I
# o E %] A U] é & I’} & il
11 # $ E E|l o | A U é ® | o a U
] # | $ a i N[ ¢ é i fi 6 | u
# | $ a i N[ ¢ é | u i fi 6 | u
# s |@ | [ | %] ] " { | N

NO.

BA-T500
EPSON -
40 39




Confidential

3.3
3.3.1
1) FEED

BM ( )
1 BM
FEED

@ ESCc5

@

® o

ESCc5

ESC 2

ESC3

EPSON

BA-T500

NO.

41

40
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3.3.2 DIP
BA-T500 DIP - DIP 3.3.1 o
ayefsfsjsjayeys|pyegsfajajayafafa
1 2 345 6 78 1 23 456 78
DSW1 DSW2
Figure 3.3.1 DIP
3.3.2.1 DIP 1
3.3.2.1 DIP SW1 (DSW1)
SW
1 BM (*1)
3.3.2.2.
4 XON/XOFF DTR/DSR *2)
CTSIRTS
S (*2)
6 (*2)
7 (*2)
3.3.2.3.
8 (*2)
(*1) 3.3.2.15.
(*2) a
3.3.2.2
2 3
(IEEE 1284)
(RS-232)
3.3.2.3
b
(bps) 7 5
4800
9600
19200
38400
bps:
NO.
BA-T500
EPSON -
42 41




Confidential

3.3.2.2 DIP 2
3.3.2.4 DIP Sw2 (DSW2)
SW |
1 3.3.2.5.
2
3 3.3.2.6.
4
5 3.3.2.7
6 1)
7 1/F 6 -1 (*2)
8 1/F 6 -2 (*2)
*1:
*2: o
3.3.2.5
1 2
M-T540 (82.5 ) (640 , 3.25
M-T530 (79.5 ) (576 , 3.15
M-T520 (60 ) (448 . 2.36 )
M-T510 (58 ) (432 . 2.28 )
3.3.2.6
3
1
2
3
4
3.3.2.7
dump
NO.
BA-T500
EPSON o T




Confidential

DIP
o ( 2-7 2-8 )
, DIP 2-7 ,
, P , DIP P
3.3.3
DIP DIP 2 , , o
3.3.3.1 1
SW ON( “17) OFF( “0")
1 - OFF OFF (0)
2 -- OFF OFF (0)
3 OFF (0)
4 e OFF (0) (*D
5 OFF (0) (*2)
6 -- OFF OFF (0)
7 -- OFF OFF (0)
8 -- OFF OFF (0)
*1:
*2:
3.3.3.2 3, 4, 5
SW ON( “1") OFF ( “0")
1 -- OFF OFF (0)
2 -- OFF OFF (0)
3 -- OFF OFF (0)
4 - OFF OFF (0)
5 -- OFF OFF (0)
6 - OFF OFF (0)
7 -- OFF OFF (0)
8 -- OFF OFF (0)
NO.
BA-T500 c

EPSON

44

43




Confidential

C )

3.3.3.3 6
S ON( “17) OFF(  07)
OFF i
1 3.3.3.6 o *1)
2 OFF (*1),(*2
© |
3 OFF (*3),(*4
© |
) 0FF | (*3).(*5
© |
OFF
5 - OFF o
0FF | (*3),(*6
° € © |
0FF | (*3),(*7
7 BM (0) )
OFF .
8 6S FF o (*3)
3.3.3.4 7
S ON( “17) OFF ( “0")
OFF
1 - OFF ©
OFF
2 - OFF o
OFF
3 - OFF ©
OFF
4 - OFF ©
OFF
5 - OFF ©
OFF
6 - OFF ©
OFF
7 - OFF ©
OFF
8 - OFF ©
NO.
BA-T500
EPSON :
45 44




Confidential

EPSON

46

3.3.3.5 8
SwW ON( “17) OFF ( “0)
OFF
1
3.3.3.7 gii
2
(9
OFF
3 *8
OFF
4
(9
OFF
5 *9
OFF
6 88 108
(9
OFF
7
) (*10)
8 OFF
(9
3.3.3.6
ON OFF
125
3.3.3.7
1 2
OFF OFF
ON OFF
ON OFF ON
NO.
BA-T500
E

45




Confidential

*1: 1.17 o
*2: 1 ONs 1
L L Windows 2000«
*3: 1.15 s
*4;
A (=)
a o
100 W ' s
*5: o
o
( )
*6: o
. 100%sa [
3.3.2.61 o )
3.3.3.8
SW 6-6 ON OFF

100 % 85 %

115 % 100 %

130 % 115 %

145 % 130 %

NO.
BA-T500

EPSON )




Confidential

7 - 1.17 ' 3.3.3.9 o
3.3.3.9
BM
DIP SW6-7
SW1-1
BM ’ BM » ON ON
BM OFF ON
BM ON OFF
BM OFF OFF
*8: = (
o) ] L]
GSV H
GS (F ’
’ 8-6 o
NO.
BA-T500
EPSON ;
48 47




Confidential

*9:
L L =
(DLE ENQ, DLE EOT) P
1
, (DLE ENQN)
L o0
( GSe , p
1 ONp 37H, 24H, O0H =
*10: 1.14 o
NO.
BA-T500

EPSON )

( ) 49




Confidential

3.4 LED
1) (POWER) LED:
2) (PAPER OUT) LED:
( )
( 35 ) @
3.4.1
PAPER OUT
° —»| & ppprox. 320 ms °
] r (r :I -]
a , [ PAPER OUT LED ]
o ( 5 » a )
3) (ERROR) LED
[ ' ]
( 3.7 )
D3 D5 D6
N A0 =
POWER LED T

PAPER FEED SW
PAPER OUT LED

ERROR LED
3.4.1

NO.
BA-T500

EPSON )

49




Confidential

35
1)
BA-T500
- DIP
2)
, ’ o (*1) o
(1)
- DIP
3)
’ "Self-test printing. Please press FEED button."
’ (*2) o o
(*2)
4)
"*** completed ***" 1
[ 3.10 1.
NO.
BA-T500
E

EPSON

50




Confidential

3.6 /
1) /
2)
DIP
GS (A
1.
2.
3.
3) /
< >

Hexadecimal Dump

"Hexadecimal Dump"s

Dump

1B 21 00 1B 26 02 40 40 1B 69
1B 25 01 1B 63 34 00 1B 30 31
41 42 43 44 45 46 47 48 49 4A

*** completed ***

DLE EOT DLE ENQ

L& L@@ .
. % . . c 4 .
ABCDEFGH

i
. 01
I3

EPSON

BA-T500

NO.

52

51
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3.7
3.7.1
1)
3.7.1
ERROR LED
%| |@320 ms
70°C
75°C {167°F}. {158°F} a
NOTE: o
2)
3.7.2

ERROR LED

%| |@320 ms

JUUHUUL T |ocene: oeeno:

|@Approximately 5.12s —>|
o DLE ENQ 1 DLE
|<—-Approximately 512s -9| ENQ 2 o
BM
p ' DLE ENQ 1
|<—Approximately 5.12s 9' DLE ENQ 2 a
L] L] =]
NO.
BA-T500
EPSON o - -




Confidential

3)
3.7.3
ERROR LED
%| |@320ms
CPU CPU
|(—Appr0><imate|y 512 s ﬁi
/
; 11 L
PCB ] J u—
léApproximately 5.12 s 9'
3.7.2
( 332 : DIP : 1-3 )
+ ERROR LED o
3.7.3
ii? n
NO.
BA-T500
E

EPSON

C )

54

53




Confidential

3.8

)

2)

, PAPER OUT LED o ESCc

3.9

NO.
BA-T500

EPSON )
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3.10
3.10.1
L] H =]
L] L] =] L]
1 o ESC FF FF 1
o
1 "ABCDEF"<LF> "ABCDEF" o
[ "ABCDEF" ’
=]
ESCL ' o ESC FF
’ ’ FF o
ESCS ' H
o ESC FF
——
Standard mode ¢ Page mode Prinfing
A ESC S f
FF
I —
3.10.1
3.10.2
1) ' o ESC SP, ESC 2, ESC 3 '
=] L] L=
2) . [ 82.5 1 640s
y [ ] 664 e ESC W y
664 » ESCT n 1 3 o)
NO.
BA-T500
EPSON -
( ) 56 55




Confidential

3.10.3
1) ESCW ° ESCW
[ ) (X0, y0)a (
) (dx )y ( ) (dy

ESCW ’ a )

2) ESCW ESCT
, 3.10.2 A o (
o)
1 3.10.3
o HRI [ Human Readable Interpretation)
B [ [ 1.
o
3) [ + LF  ESCJ]
] '
o [ ESC2 ESC3) a
4) 1/6 . 30
L =1 L)
3.10.4 27 (54 pitch)e
f ’
{ (8" 6)- (1)} =27
] 27 o

ESCW XL, XH, YL, YH, dxL, dxH, dyL, dyH

ESCTn

ESC 327~ o

LF

GS/1

ESC 2~ 30 o

NO.
BA-T500
EPSON T
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Dl oprn art diracion
iy e
Bere lires
Paintd
Now i,y
Pinirg er= [Uni®s: dets]
3.10.2
roneemmeensmenanea
1
_____________ 1
! wn :
[ 1
""""" Ear Code
12 ! : GSkm)
! .
i Uzar-dedinad 1
' b- . I
- H ! Itimags |
B =
L ! |
T 1 |
= |
5 | | !
. | I
[T . 1
= | EBitimeage | I
I I I
ﬂ L}
i_ -------- 7"|F B amalire ﬁI:H il e et : E
Poirt B PontE Poirkl T
3.10.3
NO.
BA-T500
E

EPSON

() a8

57
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D= wed oprn 2t direciion _
0 ) =
? e i
|
|
) |
Baa lire '
2!
[} I
o
U r-defire=d bitim sge !
w |
035wyl i
|
|
]
Bere lires
PaintE PaintE
. e, d
\ Frinding ares [Units: dots] )
3.10.4
NO.
BA-T500
E

EPSON

( ) 59

58
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3.11
BA-T500
BM
3.11.1 BM
DIP 11

( 3321 )

BMa

3.11.2 BM
BM BM 2 BM , 2
BMa
____________ Cutting position
____________ Print starting position
<
m
iy —y A
Center position
of the BM sensor
§ é Paper feeding
| X direction
5| &
s Te}
g €5
<
A:33.6 ) 37.2 )
B: 17.6 ) 21.2 )
3.11.1 BM
3.11.3
» BM BM o
GS (F
( 5.3 GS (FpLpHamnLnH.)
NO.
BA-T500
EPSON o - -
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4.1

25

120

96

115

4.2

{4

}
}
}

—&-
il

D6 D5 D3
DSW1

DSW2

CN4

S e 000
]

3l

CN2

CN5

CN1

91

96

EPSON

C )

o[ | -
5
ﬁ 115
120
[Unit: mm]
4.2.1
NO.
BA-T500

61

60
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4.3 PCB
BA-T500
- BA-T500
BA-T500 a
BA-T500
\
— A 4
E*; =
2 9
8
£ | g
C ) ~ i 4
[ ]
—
=
=
Lo
C
£
43.1 PCB
NO.
BA-T500
EPSON - -




[ 1k [] k e

L T T T o T o T |

€9

)

®3)

4

° ( HT
° ESC $ ESC \ o
)

82.5 ; 80 {640/203.2 }
79.5 : 72 {576/203.2 }
60 : 56 {448/203.2 }

NO.

EPS ON BA-T500 -

( ) 63




58 54 {432/203.2 }
@ '
82.5 80 {640/203.2 }
79.5 72 {576/203.2 }
60 56 {448/203.2 }
58 54 {432/203.2 }
® ’
82.5 83 {664/203.2 }
79.5 92 {738/203.2 }
60 119 {949/203.2 }
58 123 {984/203.2 }
(6)
1 £ o
@
®)
o 1 25.4 @
(9) MSB
(10) LSB
(111
*1. A2 24 ) 21
A V 2 dotx o ) BO 17 ) 16
= w— Baze e
( A )
T 10 dots Base re
NO.
EPSON, ™
E

64

63




HT
[ 1
[ 1 ASCII HT
09
9
[ 1
L ] .
+1"a
ESC D
+1
B (7  9), .
[ 1 . 40 (oIP 1-2
Yo
[ 1 ESC D
LF
[ 1
[ 1 ASCII LF
0A
10
[ 1 , ,
[ 1
[ 1 ESC 25 ESC 3 A.1
NO.

EPS ON BA-T500

« )

65

64




[ 1] ® ( )
@
[ 1 ASCI FF
0c
12
0)
[ .
ESC W o
[ 1] ESC FF, ESC L, ESC S
@ BM
[
[ DIP SW1-1 BM .
[ 1] 6S ( F, 6S FF, 3.3.2.1, DIP 1
CR
]
] ASCII CR
oD
13
[ 1 : LF o
[ ] \ .
\ 1-5
[ 1 LF

NO.

EPS ON BA-T500 -

( ) 66

65




[ 1

[ 1 ASCI I CAN

18

24

1 .
1 .
[ 1 ESC L, ESC W
NO.
EPSON
67 66

« )




DLE EOT n

ASCI 1 DLE EOTn
10 04 n
16 4 n
[ 1 1£n€£E£A4
[ 1 “ n a
n=1:
n=2:
n=3:
n=4:
[ ] . . o
DIP 1-3 , [BUSY) “
. GS a (ASB) DLE EOT
ASB a | Cs s )
. @ ESC =" L] o
L 1 : <10>H<04>H<n>(1 £ n £ 4) , “

ESC * m nL nH dl...dk, d1=<10>H, d2=<04>H, d3=<01>H
2 2 s

ESC 3 n , N . DTR ( DSR)
MARKs n . DLE EOT 3 « DLE EOT 3
<10>H ESC 3 <105H

NO.

EPS ON BA-T500 -




16

32

64

00

02

04
00

08

10
00

20
00

40

00

NO.

68

69

16

32

64

00
02

00

04

00
08

10
00
20
00
40
00

BA-T500

Off

On

EPSON




/

0 00 0
1 02 2
2 00 0

04 4
3 00 0

08 8
4 10 16
5 00 0

20 32
6 00 0

40 64
7 00 0

6: ’
n=4:
/

0 00 0
1 02 2
2: 3 00 0 °

0C 12
4 10 16
5: 6 00 0

60 96 °
7 00 0

[ 1 DLE ENQs GS as GS r
NO.
BA-T500

EPSON

70

69




DLE ENQ n

[ 1
[ ] ASCII DLE ENQ n
10 05 n
16 5 n
[ ] 1£n€f£2
L ] N
n
1
2
[ ] 1 1 o
1 =] 1—3 1
DLE ENQ 2 ’
p [ ESC !s ESC 3 1.
ESC @ o .
[ 1 . <10>H<05>H<n> (1 £ n £ 2) , P
ESC * m nL nH dk, dl = <10>H, d2 = <05>H, d3 = <01>H
2 1 o
ESC3n » n » DTR ( DSR)
MARKs n , DLE ENQ 2 « DLE ENQ 2
<10>H ESC 3 <10>H P
[ ] DLE EOT
NO.

EPS ON BA-T500 -




ESC FF

[ 1
[ 1] ASCI ESC FF

1B 0c

27 12
[ 1 :
[ ] 2

: .ESC T  ESC W

[ 1 FF, ESC L, ESC S
ESC SP n
[ 1
[ 1] ASCI ESC Sp

1B 20

27 32

] 0 £n £ 255
[n°~ 0.125 1 -
] :
[ 1 s
[ 1 n=0
NO.
BA-T500

EPSON

72

71




[ 1
[ 1 ASCII ESC !
1B 21
27 33
1 0 £n £ 255
n o n
/
0 0 |0 A (12 ° 24).
01 1 B (9 17).
1 - - - s
2 - - - o
3 00 0 p
08 8 p
4 00 0 o
10 16 o
5 00 0 p
20 32 p
6 - - - o
7 00 0
80 128
[ 1 :
; HT 90°
ESC - : P
NO.
EPSON BA-T500
73 72




ESC E o
ESC - '
GS 1 o P
1 n==~0
] ESC -, ESC E, GS !
ESC $ nL nH
[
[ ] ASCII ESC $ nL NnH
1B 24 nL nH
27 36 nL nH
[ ] 0 £nL £ 255
0 £ nH £ 255
[ 1 o
[(nL + nH = 256) ~ 0.125 1-
[ 1 0
[ (X)o
@ ESC T '
(xX)=
@ ESC T ’
)=
[ ] ESC \, 6S $, GS \

EPS ON BA-T500

NO.

74

73




ESC % n

[ 1 /
[ 1 ASCI I ESC %
1B 25
27 37
0 £n £ 255
n (LSB) 0
n (LSB) 1 .
[ 1 .
. n o
1 n=2=0
1 ESC &, ESC ?
NO.
BA-T500

EPSON

« )

75

74




ESC & y ¢l ¢2 [x1 dl...d(y ~ x1)]...[xk di...d(y =~ xk)]
[ 1
[ ] ASCII ESC & y ¢l c2 [x1dl...d(y  x1)]...[xk di...d(y
© xk)]
1B 26 y ¢l c2 [x1dl...d(y  x1)]...[xk dl...d(y
~ xk)]
27 38 y ¢l c2 [x1dl...d(y  xD1)]..-[xk di...d(y
~ xk)]
[ 1 y=3
32 £cl £c2 £ 126
0 £x £ 12 ( A (127 24) )
0E£XxEY ( B (O™ 17) )
0 £dl ... d(y = xk) £ 255
[ 1 .
. y o
- cl » C2 a
X o
[ 1 <20>H <7E>H ASCII (95 )e
a [ cl = c2.
* d o =1 o
v x @
1 0=
« ESC ! ESC M
O] ESC 0-
@ GS *s
® ESC ?-
©) o
B (9 17) .
NO.
EPSON, =™
E




[ 1 ESC

% ’

A (12

ESC ?

di

d¢

24 dowe (42

TTTT 7 TTT ]
[HEEE EEENIEEEEE EpEEENEEEN |
HEEE EEENEEEEEE EpEENEEEN |
HEEE NSNS EEEEE EEpEENEEEN |
T T OITTTTIO717TTT

EEEEE EEEEEEE EEpEENEEE N

ITTTTT] MM TTTTT7] N TTT]

EEEEEE NEIEEEEEE BEEEE EE

dl= <OF>H
d2 = <03>H
d3 = <00>H

T

o o o
o o A~

HNEEEE NEEEE EEEQEEENE BEE

CTTTTTTT] M TTT] (THTTT]
(HEEEEEEEp IEEEEEEEpEENEEEEE
I OIIIITT1] O 111117

<30>H
<80>H
<00>H

<40>H . . . .
<40>H . . . .
<20>H . . . .

EPSON

BA-T500

NO.

7

76




B (9~

17) =
9 dots

dl|d4

d7

17 dots | 42| ds

d3| dé

d24g

d27

MSB

LSB

i
dl =<1F>H

d2 = <FF>H
d3 =<80>H

d4 = <08>H
d5 = <08>H
d6 = <00>H

d7 = <10>H...
d8 = <04>H...
d9 = <00>H...

EPSON

BA-T500

NO.

78




ESC * m nL nH dl...dk
[ 1
[ ] ASCI 1 ESC * n. nH di...dk
1B 2A m n. nH dil...dk
27 42 m nH di...dk
[ 1 m=0, 1, 32, 33
0 £ nL £ 255
O£nHE£3
0 £d £ 255
[ ] m ’ nL NH ’
(9]
m
0 8- 8 67.7 dpi 101.6 dpi |nL + nH =~ 256
1 8- 8 67.7 dpi 203.2 dpi |nL + nH = 256
32 | 24- 24 203.2 dpi [101.6 dpi [(nL +nH " 256) 3
33 | 24- 24 203.2 dpi  [203.2 dpi |[(nL +nH " 256) 3
dpi: 25.4 {1 }
[ ] m ] nL o
nL nH o nL + nH = 256 o
d =] l 1 O (=)
GS L GS W ESC *
' [
J
®© o
@ @
(m =0, 32) :
(m =1, 33) o
NO.
EPSON|  *™
E

79

78




di | 42|42

Printdais

EPSON

BA-T500

NO.

80

79




24-

di

d4

>

d9

/

Eitim age data

Frintd i

# Frirnt daie
O 1daot

Dible dereity

EPSON

BA-T500

NO.

81

80




[ 1 /
[ 1 ASCI ESC - n

1B 2D n

27 45 n

] 0O£n¢£2, 48 £n£50
n s
n
0, 48
1, 49 a )
2, 50 e )
[ 1 ( HT
90° o
n 0 48 1 1
1 =
ESC ! “

[ ] n=0
[ ] ESC !
ESC 2
[ 1
[ ] ASCII ESC 2

1B 32

27 50

3.75 (30 © 0.125 )
[ ] ESC 3

NO.
EPSON| =™
82 81




[ 1
[ 1 ASCI 1 ESC 3 n

1B 33 n

27 51 n

0 £n £ 255
[n~ 0.125 1.
: W) -
® ESCT W) -
® ESC T x) o

[ 1] n=30
[ 1 ESC 2
ESC ? n
[ 1
[ 1 ASCI 1 ESC ? n

1B 3F n

27 63 n

32 £n £ 126
ESC ! . -
[ 1 ESC &, ESC %
NO.
BA-T500

EPSON

« )

83

82




[ 1

[ 1 ASCII ESC @
1B 40
27 64

- DIP

ESC D nl...nk NUL

[ 1
[ ] ASCII ESC D nl...nk NUL
1B 44 nl...nk 00
27 68 nl...nk 0
[ ] 1£n £ 255
0 £k £ 32
[ 1 o
n ’ o
.k o
[ 1 : [ ©nl
n=8 , HT o
32 (k= 32) = 32
[n]k NUL 0.
[n]k [n]k-1 - :
- ESC D NUL P
] A (127 24) 8 ( 9 17 25, ...)a
] HT
NO.
BA-T500

EPSON

84

83




[ 1 /
[ 1 ASCII ESC E
1B 45
27 69
0 £n £ 255
n (LSB) 0 .
n (LSB) 1 .
[ 1 n o
ESC ! ESC !
1 n=20
] ESC !
ESC G n
[ 1 /
[ 1 ASCI I ESC G
1B 47
27 71
[ ] 0 £n £ 255
[ 1 @
n (LSB) 0
n (LSB) 1 .
L ] n o
] n=2=0
1 ESC E
NO.
EPSON  *™
85 84

« )




[ 1
[ ] ASCI I ESC J n
1B 4A
27 74 n
0 £n £ 255
. [n° 0.125 1.
ESC 2 ESC 3
’ (y) =
®  ESCT : ) -
®  ESCT : ) -
BM ,
E (BM =
NO.
EPSON, ™
E

« )

86

85




ESC L

[ 1
[ 1 ASCI 1 ESC L
1B 4C
27 76
[ 1 o
L ] , “
FF ESC S , p
ESC T
ESC W p
[ '
O} ESC SP
©)] ESC 2, ESC 3
@ / 90° : ESC V
©)] : ESC a
® / : ESC {
@ : GS L
® : GS W
’ ESC @ s
[ ] FF, CAN, ESC FF, ESC S, ESC T, ESC W, GS $, GS \
NO.
BA-T500
EPSON -
( ) 87 86




[ 1
[ 1] ASCI I ESC M
1B 4D
27 77
[ 1 n=0, 1, 48, 49
[ 1
n
0, 48 A (12 ° 24)
1, 49 B (9  17)
[ 1 - ESC ! .
[ ] ESC !
ESC R n
[ 1
[ 1] ASCI I ESC R
1B 52
27 82
[ ] 0£n£13
[ 1 n ,
n
0
1
2
3
4 I
5
6
7 I
8
9
10 1
21 1
NO.
BA-T500

EPSON

88

87




12

13
1 n =
] 3.2.12
ESC S
[ 1
[ 1] ASCII ESC s
1B 53
27 83
ESC W
] :
(@) ESC SP
@ ESC 2,
[ ] FF, ESC FF, ESC L
NO.
EPSON| ™
89 88

« )




[ 1
[ ] ASCII ESC T n
1B 54 n
27 84 n
[ ] 0£n€£s3
48 £ n £ 51
[ 1 o
n ’
n
0, 48 O g o
( A) I
1, 49 4 E
( B) f Frintarza J' &
2, 50 f +
( C) f
3, 51 L a
( D)
[ ] ’ o
ESC W , o
] n==~0
] ESC $, ESC L, ESC W, ESC \, GS $, GS \
NO.

EPS ON BA-T500 -

( ) 90 89




[ 1 / 90°
[ 1 ASCII ESC Vv n
1B 56 n
27 86 n
0OE£nE£1l, 48 £n £ 49
/ 90°
n
n
0, 48 90°
1, 49 90°
[ 1 o
. 90°
90° .
] n==~0
1 ESC !, ESC -

EPS ON BA-T500

NO.

91

90




ESC W xL xH yL yH dxL dxH dyL dyH

[ 1
[ ] ASC 11 ESC W XL XH yL YH dxL dxH dyL dyH
1B 57 XL XH yL yH dxL dxH dyL dyH
27 87 XL XH yL yH dxL dxH dyL dyH
L 1 0 £ XL, XH, yL, YH, dxL, dxH, dyL, dyH £ 255 (dxL=dxH=0 dyL=dyH=0
)
L 1 x0, y0, dx, dy , ,
X0 = [(XL + xH = 256) = 0.125 mm]
y0 = [(yL + yH = 256) ~ 0.125 mm]
dx = [(dxL + dxH =~ 256) ~ 0.125 mm]
dy = [(dyL + dyH = 256) =~ 0.125 mm]
[ ] , a
0:
, ESC T o
( + )
( - )e
( + )
( - )e
0.125 : 0.125
x0, y0, dx dy , ) .
NO.
BA-T500
EPSON -
( ) 92 91




(X, Y) Paper /P

\L D x -

T

:

o

Dy Print area -

(X + Dx-1, Y + Dy-1)
5.2 , o
L ] XL = XH =yL=yH =0
DIP 2-1 2-2 » dxL, dxH, dyL, dyH
dxL = 128, dxH = 2,
82.5 640 dyL = 152, dyH = 2
dxL = 64, dxH = 2,
795 576 dyL = 226, dyH = 2
dxL = 192, dxH = 1,
60 448 dyL = 181, dyH = 3
dxL = 176, dxH = 1,
58 432 dyL = 216, dyH = 3
L ] CAN, ESC L, ESC T
NO.
BA-T500
EPSON E
93 92




ESC \ nL nH

[ 1
[ ] ASCII ESC \ nL nH
1B 5C nL NnH
27 92 nL NnH
[ ] 0 £nL £ 255
0 £ nH £ 255
[ ] 1 1 o
[(nL+ nH "~ 256) ~ 0.125 ] o
[ 1 o
N :
nL+ nH ~ 256 = N
N  ( ), 65536 o
nL+ nH ~ 256 = 65536 - N
® ESC T : X))
® ESCT . y)-
[ ] ESC $
NO.
BA-T500
EPSON :
94 93




[ 1
[ 1 ASCII ESC a
1B 61
27 97
Of£n £2,48 £n £50
n
n
0,48
1, 49
2, 50
[ 1 d
HT, ESC $ ESC \
1 n=20
1
ABC ABC ABC
ABCD ABCD ABCD
ABCDE ABCDE ABCDE
NO.
BA-T500

EPSON

95

94




ESC ¢ 3 n

[ 1
[ 1] ASCI1 ESC c 3
1B 63 33
27 99 51
] 0 £n £ 255
/
0 -
1 00
02
2 -
3 00 .
08 .
4-7 |- - .
[ 1
[ 1 n=0
NO.
BA-T500

EPSON

96

95




ESC ¢ 4 n

[ 1

[ ] ASCI 1 ESC c 4
1B 63 34
27 99 52

1 0 £n £ 255
/
0 - - a
1 00 0 a
02 2 a
2-7 |- - - a
[ 1 2
1 '
L ] n=20

EPS ON BA-T500

NO.

97

96




ESC ¢ 5 n

[ 1 /
[ ] ASCII ESC c 5 n
1B 63 35 n
27 99 53 n
0 £n £ 255
n (LSB) 0 ’
n (LSB) 1
[ ] n o
[ 1 n=20
ESC d n
[ 1 n
[ ] ASCI 1 ESC d n
1B 64 n
27 100 n
[ ] 0 £n £ 255
[ 1 : n
[ 1 o
ESC 2 ESC 3 o
: 1016 {40  }= (n” ) 1016
0 1 1016 {40 }e
- BM , ,
(BM = o )
[ ] ESC 2, ESC 3
NO.
BA-T500

EPSON

98

97




ESC t n

[ 1
[ 1 ASCI1 ESC t

1B 74

27 116

] 0OE£n£5, 16 £n £ 19, n = 255
n =
n
0 PC437 [ , ]
1
2 PC850 [ 1
3 PC860 [ 1
4 PC863 [ -]
5 PC865 [ ]
16 WPC1252
17 PC866 [ 2]
18 PC852 [ 2]
19 PC858 [ ]
255 Space page
] n==~0
] 3.2
NO.
BA-T500

EPSON

99

98




[ 1 /
[ 1 ASCI I ESC {
1B 7B
27 123
0 £n £ 255
n LSB 0 -
n LSB 1 .
[ 1 n °
[ 1 n=2~0
[ 1

=T
= m
L =]
£ m
i

180°. o

il
=+ L
Pl =1
ol L]

-~
=18

EPS ON BA-T500

NO.

100

99




NV
ASCII FS p n m
1C 70 n m
28 112 n m
[ ] 1 £n £ 255
OE£EmE£3, 48 £m £ 51
L ] m NV Ne
m
0, 48 203.2 dpi 203.2 dpi
1, 49 203.2 dpi 101.6 dpi
2, 50 101.6 dpi 203.2 dpi
3, 51 4 101.6 dpi 101.6 dpi
dpi: 25.4 {1 } p
n NV ( FS ¢ ).
m
[ 1 NV FS q + FS p p
NV o
( 1 a 1
90° 1. p
GS L GS W NV '
o NV 1 (m:O, 48)
(m=2, 50) ' (m=1, 49) (m=3, 51)
@ NV p .
@ 1 (=)
' n »n NV ’
2n s+ n NV ' ESC 2 ESC 3
L ] ESC *, FS q, GS /, GS v O
NO.
BA-T500
EPSON -
( ) 101 100




FS g n [xL xH yL yH dl...dk]J1...[xL xH yL yH dl...dk]n

L ] NV
[ ] ASCI1 FS q n [XLxHyLyHdl...dk]1...[ xLxHyLyH d1...dk]n
1C 71 n [XLxHyLyHdl...dk]1...[ xL xHyL yH d1...dk]n
28 113 n [XLxHyLyHdl...dk]1l...[ xL xHyL yH d1...dk]n
[ ] 1 £n £ 255
0 £ xL £ 255
OE£xHE3( 1E£(XL+xH ™ 256) £ 1023
0 £ yL £ 255
OEYyHEL1( 1E£ (yL+yH  256) £ 288
0 £d £ 255
k = (XL + xH =~ 256) °~ (yL + yH = 256) ~ 8
= 192K
[ ] n NV o
n NV o
- XL, XxH NV (XL + xH = 256) ~ 8-
- yL, YH NV (yL + yH ~ 256) ~ 8 .
[ 1 NV ,
, (
L j o
, NV a
NV « FS q + FS p “
7 <FS~yH>
xL, XH, yL, yH
XL, XH, yL, yH a
NO.
BA-T500
EPSON E
102 101




. xL, xH, yL, YH :

1 XL, XH, yL, yH 1

, NV o ’ NV ([
j L] NV L=
d “ @@ 1 0
n NV o 01H a

[XL xH yL yH d1...dk] NV O1lH - [XL xH yL yH d1...dKk]
NV n « FS p NV o

NV [XL xH yL yH d1...dk] o ’ NV
n=1, [XL xH yL yH d1...dKk] o NV

([data: (xL + xH =~ 256) = (yL + yH =~ 256) ~ 8] + [header :4])

=1

192K (Ve .
[ + ] 192K s
DIP 2-1 . NV -
ASB: ASB .
NV L] ESC @ L] L] [}
NV . s NV FS p
[ ] NV s
. NV 10 .
NV \ . .
1 =] 1 DIP (=)

NO.

EPS ON BA-T500 -

( ) 103 102




[ ] XL = 64, xH = 0, yL = 96, yH = 0

(XL + xH "~ 256) ~ 8 dots = 512 dots

/ do7

d1 449057
d2

- MSB %
| o
! ©
N ' [o0]
O
I~
1
o
@]
d3 i
(e 0]
©
Lo
(q\V]
\I
>
. LSB *
>

d96 449152

NO.
BA-T500
EPSON :
104 103




[ 1
[ 1 ASCI 1 GS FF

1D 0C

29 12

DIPSW1-1 BM . .
[ 1 6S ( F, FF. 3.3.2.1. DIP 1,
GS I n
ASCI | GS ! n

1D 21 n

29 33 n
[ 1 0 £n £ 255

Q£ £8,1¢F £8)
[ 1 0 2 47
/
0 o 20
1
2
3
4 - 1o
5
6
7
NO.
EPSON ™
105 104




1 2
00 0 1( ) 00 0 1 ( )
10 16 2 ( ) 01 1 2 ( )
20 32 3 02 2 3
30 48 4 03 3 4
40 64 5 04 4 5
50 80 6 05 5 6
60 96 7 06 6 7
70 112 8 07 7 8
L HRI s

n a =1

: o 90°
ESC !
L n==~0
L ESC !
NO.

EPSON

BA-T500

106

105




GS $ nL nH

[ 1
L ] ASCII GS $ nL
1D 24 nL
29 36 nL
0 £nL £255, 0 £ nH £ 255
[(nL + nH ~
[ 1 o
[(nL + nH = 256) ~ (
ESC T a
. , ESC T
@ :
@ )
[ ] ESC $, ESC T, ESC W,

nH
nH

nH

256) ~ 0.125 1-

)]

ESC \, GS \, 3.10

EPSON

BA-T500

NO.

107

106




GS ( A pL pH nm

[ 1
[ ] ASCI 1 GS ( A pL pH n m
1D 28 41 pL pH n m
29 40 65 pL pH n m
[ 1 (pL+(pH” 256))=2  (pL=2, pH=0)
OE£n€£2, 48 £n £50
1£m£E3, 49 £m£ 51
[ 1 °
pL  pH (pL + (pH ~ 256)) >
n o
n
0, 48 | Basic sheet ( )
1, 49
2, 50
m
m
1, 49 dump
2, 50
3, 51
[ 1 o
o DIP a
NO.
BA-T500
EPSON E
( ) 108 107




GS ( E pL pH m [parameter]

[ 1
L 1 NV
m H
6GS ( E pL pH m dl d2
GS ( E pL pH m dl d2 d3
5 GS (EpLpHm[albls...bl1]...[ak
bks...bk1]
6 |6GS ( E pL pH m a
© pL, pH pH(m [ D (pL + (pH ~256))-
- m a
- dl, d2, d3
a “
a nL, nH a
21 “
( , ) >
L ] : NV (FS aq, GS ( E) NV
NV 10 -
: NV
NO.

EPS ON BA-T500

109

108




GS ( E pL pH mdl d2 ( m=1) 1>
[ 1 ASCI1 GS ( E pL pH m di d2
1D 28 45 pL  pH 01 d1 d2
29 40 69 pL pH 1 di  d2
[ 1 pL=3, pi =0
m=1
dl1 = 73
d2 = 78
[ 1
= 37H / = 55 (1 )
: = 20H / =32 (1 )
NUL: = 00H / =0 (1 )
2, 3 4 .
GS |1
GS ( E pL pH m dl d2 d3 ( m= 2>
[ 1 ASCII GS ( E pL  pH m di  d2 d3
1D 28 45 pL  pH 02 d1 d2 d3
29 40 69 pL pH 2 dl  d2 d3
[ 1 pL =4, pH =0
m=2
dl1 = 79
d2 = 85
d3 = 84
[ 1 J
( , : )
m=2 o
NO.
BA-T500
EPSON E
110 109




GS ( E pL pH m Jal bls...bl1]...[ak bks...bk1] ( m=3) <
3>
L 1 ASCI1 GS ( E pL pH m [al bls...b11]...[ak
bks. . .bk1]
1D 28 45 pL pH 03 [al bls...b11]...[ak
bks. . .bk1]
29 40 69 pL pH 3 [al bls...b11]...[ak
bks. . .bk1]
L 1 10 £ (pL + pH =~ 256) £ 65530
( (pL+pH ™ 256) =9 k +1: 0 £ pL £ 255; 0 £ pH £ 255)
m=3
1£a£8
b = 48, 49, 50
1 £k £ 7281
[ ] b 1 a o
b
48 o
49 -
50 “
8«
8 1 b “
: 3.3.3 =
“2" (50)-
: BA-T500 : =
NO.

EPS ON BA-T500 -

( ) 111

110




GS ( E pL pHma ( m=4) < 4>

[ 1 ASCI1 GS ( E pL pH m a
1D 28 45 pL pH 04 a
29 40 69 pL pH 4 a

[ 1 (pL + pH =~ 256) =2 (pL = 2, pH = 0)
m=4
1 £af£s8
[ 1 a o
@ 37H 55 1
@ 21H 33 1
® 30H, 31H 48, 49 8
@ NUL 00H 0 1
® -
/ [ : = 30H / = 48] [
= 31H / = 49]. 8 :
8 1 s
: “10110001"

(31H, 30H, 31H, 31H, 30H, 30H, 30H, 31H):
8 7 6 5 4 3 2 1

. [a 1 o ,<GS
~ a> (7 ) o

. BA-T500 o
(a) 3 (a) .

NO.

EPS ON BA-T500 -

( ) 112 111




GS ( F pL pH a m nL nH

[ 1
[ ] ASCI 1 GS ( F pL pH a m nL nH
1D 28 46 pL pH a m nL nH
29 40 70 pL pH a m nL nH
[ 1 (pL + (pH “ 256)) = 4 ( pL = 4, pH = 0)
1£af£?2
m =0, 48 or 1, 49
0 £ (nL+nH"  256) £ 65535
( 0 £nL £ 255, 0 £ nH £ 255)
[ ] BM “
a o
pL pH [ al (pL + (pH =~ 256))
a o
a
1 a
2 o
m o
m
0, 48 o
1, 49 o
nL nH [(nL + nH = 256) ~ 0.125 1-
L 1 ( 6S ( F ) » BA-T500
(a=1)
FF, GS FF
(a =2)
GS V.mn
“ » BA-T500 ,
[ 1 0%
( BM BM
=)
[ ] FF, GS FF, GS V
NO.
BA-T500
EPSON E
113 112




GS ( K pL pH nm
[ 1
[ ] ASCI 1 GS ( K pL pH n m
1D 28 4B pL pH n m
29 40 75 pL pH n m
[ 1 (pL + (pH “ 256)) = 2 ( pL = 2, pH = 0)
1 £n £ 255
m, [=]
[ 1 - pL, pH (pL + (PH " 256))-
n o
n
48 48 “
49 49
[ ] 1 L]

- (pL + pH "~ 256) < 2

- N

» BA-T500

EPSON

BA-T500

NO.

114

113




GS ( K pL pH nm ( n=48)< 48>
[ ] ASCI 1 GS ( K pL pH n m
1D 28 48 02 00 30 m
29 40 75 2 0 48 m
[ 1 (pL + (pH “~ 256)) = 2 (pL = 2, pH = 0)
n =48
0£n£3, 48 £m¢£51
L ] -om p
n
0, 48 -
1, 49 0
2, 50 -
3, 51 0
0, 48 -
[ 1 m =
GS ( K pL pinm ( n=49) < 49>
L 1 ASCII GS ( K pL pH n m
1D 28 48 02 00 31 m
29 40 75 2 0 49 m
[ 1 (pL + (pH = 256)) = 2 (pL = 2, pH = 0)
n =49
-10 £m £ 10 ( 50 150%)
[ ] - n ]
-10 £m £ -1, o (<-10 )
m = 0, o
1 £m£ 10, > (+10° )
[ ] 1 ]
: FF ESC FF
[ 1 m=0
NO.
EPSON
E

115




GS (M pL pH anm
]
] ASCI1 GS ( M pL pH n m
1D 28 4D pL pH n m
29 40 77 pL pH n m
[ 1 (pL + (pH © 256)) = 2 (pL = 2, pH = 0)
1£n£3, 49 £n£51
OEmE£L, 48 £m £ 49
[ 1 .
n
1, 49 6GS ( F NV s
2, 50 NV 6S ( F a
3, 51 : “
m
m =0, 48: 6S ( F a
m=1, 49: “
[ 1 . (FS q, 6S ( E, 6S ( M) NV
, NV 10 -
[ ] ( ):
6S ( F “
[ 1 ESC @
NO.
BA-T500
EPSON E
116 115




GS ( M pL pH nm ((n) =1, 49 < 1>
[ ] ASCI 1 GS ( M pL pH n m
1D 28 4D pL pH n m
29 40 77 pL pH n m
[ 1 (pL + (pH © 256)) = 2 (pL = 2, pH = 0)
n=1, 49
m=1, 49
[ 1 GS ( F NV .
NV , NV
[ 1 - BA-T500
NV , [BUSYY -
ASB , ASB o ,
: ASB “
[ 1
[ ] < 2> < 3> .
GS ( M pL pH n m ((n) =2, 50) < 2>
L 1 ASCII GS ( M pL pH n m
1D 28 4D pL pH n m
29 40 77 pL pH n m
[ 1 (pL + (pH © 256)) = 2 (pL = 2, pH = 0)
n=2,50
OEmEL, 48 £m £ 49
L 1 -m=0 48, 6S ( F a
.m0 48, m o
[ 1 , o
< 1>a
[ 1
[ 1 < 1>
NO.
EPSON
E

117

116




GS ( M pL pH nm ((n) =3, 51) < 3>
[ ] ASCI 1 GS ( M pL pH n m
1D 28 4D pL pH n m
29 40 77 pL pH n m
[ 1 (pL + (pH ~ 256)) =2 (pL = 2, pH = 0)
n=3, 51
OEmEL, 48 £m£E 49
[ ] . m=20 48 NV @
+ 6S ( F
mt 0 48, NV o
+ GS ( F “
NV o
NV , ,
[ ] L] L] =]
ESC @
[ 1 m=0
[ 1 ESC 0, < 1> .
NO.
EPSON, ™
118 117




GS * x y dl...d(x ~y = 8)

ASCI 1 GS * X di...d(x "y~ 8)
1D 2A di...d(x "y~ 8)
29 42 di ...d(x "y~ 8)
[ ] 1 £x £ 255
1E£y £48 (x ~ y £ 1536)
0 £d £ 255
[ 1 X oy s
X p
Yy o
[ ] X 8 8=
X y . -
d p (d) 0=
@) ESC @ =
@ ESC & =
©) p
x ~ 8 dots
di
dy+1
dy 2+1 — MSB
2 ..
v 8dots ]
| ] LsB
dy
dy|2 dx]y 8
L ] GS /
NO.
BA-T500
EPSON E
( ) 119 118




[ 1
[ 1] ASCI /
2F
47
[ 1] 0OEmES3, 48 £m £ 51
[ 1 m -
m
m
0, 48 203.2 dpi 203.2 dpi
1, 49 203.2 dpi 101.6 dpi
2, 50 101.6 dpi 203.2 dpi
3, 51 101.6 dpi 101.6 dpi
dpi: 25.4 {1 3}
[ 1] . °
( L] 1 1 j
3.10.4-
6S L GS W 6S /
) [ 1.
@ o
@ ® .
(m = 0,48) (m = 2, 50) .
(m = 1, 49) (m =3, 51) .
[ 1] 6GS *
NO.
BA-T500
EPSON :
120 119




[ 1 /
[ 1] ASCI GS :
1D 3A
29 58
, 6S A, s
. ESC @ . ESC @ .
GS : 6S 1
2048 - 2048 s
[ 1] Gs ~
NO.

EPS ON BA-T500 -

( ) 121




GS B n
] /
] ASCI1 GS B
1D 42
29 66
0 £n £ 255
n LSB 0 P
n LSB 1 a
[ 1
' ESC SP
. ' » HRI ' HT '
ESC $ ESC \a
o 1 (
1.
[ ] n=20
NO.
BA-T500
EPSON E
122 121




[ 1
[ 1 ASCII GS c 0
1D 43 30
29 67 48
[ 1 0OENnES
0 £ £2, 48 £m £ 50
[ 1 o
n
n=0 - o
=1 5 . o
m
m
0, 48
1, 49
2, 50
L 1 n m : o
n = 0, o
[ ] n=0,m=0
[ 1 6GS C 1, 65 C 2, 65 C ;, GS ¢
[ 1
n=3, mM=0 n=3, m=1 n=3, m=2
AAl 001 1AA
AlIndicates a space
NO.
EPSON| =™
E

123

122




GS C 1 aL aH bL bH n r

[ 1 Q)]
[ ] ASCI 1 GS C 1 aL aH aL bH n r
1D 43 31 aL aH aL bH n r
29 67 49 aL aH aL bH n r
[ ] 0 £ aL £ 255
0 £ aH £ 255
0 £ bL £ 255
0 £ bH £ 255
0 £n £ 255
0 £r £ 255
[ 1 o
aL, aH or bL, bH @
» N o
» o
[ ] , :
[aL + aH = 256] < [bL + bH "~ 256] and n® Oand r t O
[aL + aH = 256] > [bL + bH~ 256] and n®! Oand r t O
[aL + aH = 256] = [bL + bH =~ 256] and n =0 orr =0
, [aL + aH ™ 256]: [bL + bH = 256]-
’ [aL +aH ™ 256]: [bL + bH = 256]-
, r
[ ] aL =1, adH =0, bL = 255, bH = 255, n =1, r = 1
L 1 6S ¢ 0, 6S C 2, 6GS C ;, GS ¢
NO.
BA-T500
EPSON :
( ) 124 123




GS C 2 nL nH

[ 1
[ ] ASCII GS C 2 nL mH
1D 43 32 nL mH
29 67 50 nL mH
[ ] 0 £ nL £ 255
0 £ nH £ 255
[ 1 °
nL NH [nL + nH ~ 256]-
[ ] ' GS C 1 GS C
GS ¢ p
’ GS C 1 GS C
GS ¢ p
[ 1 nL=1, nH = 0
[ 1 GS ¢C 0, 6GS C 1, GS C ; GS ¢
GS C ; sa ; sb ; sn; sr; sc;
[ 1 (8)
[ ] ASCI1 GS C ; sa ; sb ; sn; sr ; sc ;
1D 43 3B sa 3B sb 3B sn 3B sr 3B sc 3B
29 67 59 sa 59 sb 59 sn 59 sr 59 sc 59
[ ] 0" £ sa £ “65535”
0" £ sb £ “65535"
“0" £ sn £ “255”
“0 £ sr £ “255”
“0" £ sc £ “65535”
[ ] ' P
sa, sb, sn, sr sC ASCII , “«0" «Q”
sa sb p
sn o
sr . o
SC o
[ 1 ,
sa < sb sn 1 «0 sr 1 «Q
sa > sb sn 1 «0 sr 1 «0
sa = sb sn = 0 sr = «0"
L] Sa » Sb o
[ o SC
[ GS ¢ o
NO.
BA-T500
EPSON i
( ) 125 124




s Sa + Sb o
’ o SC
’ GS ¢
sa SCa 1 o
Sa SC iio!! iig!!
[ 1 sa = “1", sb = “65535", sn = “1", sr = “1", sCc =
[ ] 6S C 0, 6S C 1, 6GS C 2, GS ¢
NO.
BA-T500
EPSON :
126 125




[ 1
[ ] ASCII S E n
10 45 n
20 69 n
[ 1] 0 £n£ 255
[ 1 .
/
0-3 00 |0
4
( )
5
7 00 |0
5 4
1( 150 /) |o 0
2 ( 100 /) |o 1
3( 80 /) 1 0
4(C 50 /) 1 1
[ ] 1 o
, 1, 120
: 50 / -
[ ] 1
NO.

EPS ON BA-T500 -

( ) 127




GS H
1 HRI
] ASCI I GS H n
1D 48 n
29 72 n
0£n£3, 48 £n £51
: HRI o
n :
n
0, 48
1, 49
2, 50
3, 51
HRI [Human Readable Interpretation]
[ 1 GS f HRI1 o
L n==~0
[ 1] 6GS f, 6S K

EPS ON BA-T500

NO.

128




] 1D
[ 1 ASCI 6S I n
1D 49 n
29 73
[ 1] 1£nE3, 49 £n £51
[ 1 ID -
n ID °
n ID ID
1, 49 1D : BA-T500, : 27H
2, 50 ID
3, 51 ID o
[ 10]
/
0 OFF 00 0 “
ON 01 1 “
1 OFF 00 0 a
ON 02 2 °
2 OFF 00 0 BM °
ON 04 4 BM o
3 OFF 00 0 a
4 OFF 00 0 °
5 - - - .
6 - - - .
7 OFF 00 a
[ | . DTR/DSR . (DSR
SPACE). 1 “ (DSR
MARK) » . .
' XON/XOFF ' 1 ' DSR
: ID- ,
6S a (ASB) GS I ASB
NO.
BA-T500
EPSON E
( ) 129 128




GS L nL nH

[ 1
[ 1 ASCII GS L L nH
1D 4C nL nH
29 76 nL NnH
[ 1 0 £ nL £ 255
0 £ nH £ 255
[ 1 nL nH .
[(nL + nH ~ 256) ~ 0.125 1-
le
[ P ¢ »
[ 1 ,
(GS v 0) - \
o 8 1 o
)
(nL + nH = 256) = 20, 16-
1 nL=0, nH=0
] GS W
NO.
BA-T500
EPSON c
130 129




] ASCII GS T
1D 54
29 84
] n=0, 1, 48, 49
n
n
0, 48
1, 49
NO.
EPSON o
131 130




@ 6GSVm® GSV mn

[ 1
[ ] @ASCII GS V m
1D 56
29 86 m
@ASCII GS v mn
1D 56 mn
29 86 mn
[ 1 @ m=1, 49
@ m=66, 0EF£n£ 255
[ ] 1 o m 1
m
1, 49 ( )
66 ( + [n "~ 0.125 D, ( ).
[ @ © ]
[ @ 1 .
[ @ ] ‘n = O ] o
nt0 ( + [n "~ 0.125 {0.0049
D o
DIP 1-1 BM ’ [(GS ( F

NO.

EPS ON BA-T500 -

( ) 132 131




GS W nL nH

[ 1
[ 1 ASCII W nL nH
57 nL nH
87 nL nH
[ 1 0 £nL £ 255
0 £ nH £ 255
[ 1 nL nH .
[(nL + nH = 256) ~ 0.125 ]1-
[ g
| I |
[« e ~'
[ 1
6S L GS W [ +
] : - 1=
GS W : GS
NO.
BA-T500
EPSON E
( ) 133 132




y

"
| | A
— e
| e
nL nH
® .
| N|
gl
| Al |
|«
@ lq |[— o
® o
)
® .
® -
[ 1
M-T540 (82.5 ) 640 nL =128, nH =2
M-T530 (79.5 ) 576 nL =64, nH = 2
M-T520 (60 448 nL =192, nH=1
M-T510 (58 432 nL =176, nH=1
[ 1 6S L, 3.3.2.2 , DIP
NO.
BA-T500
EPSON :
134 133




GS \ nL nH

[ 1 o
[ ] ASCII GS \ nL NnH
1D 5C nL nH
29 92 nL nH
[ ] 0 £nL £ 255
0 £ nH £ 255
[ 1 : @
[(nL + nH = 256)
0.125 1-
[ ] ' o
N :
nL + nH"~ 256 =N
N ( ), 65536 p
N :
nL + nH "~ 256 = 65536 - N
ESC T ' :
@ . ) -
@ ] (X) a
[ ] ESC $, ESC T, ESC W, ESC \, GS $, 3.10,

NO.

EPS ON BA-T500 -

( ) 135 134




[ 1
[ 1 ASCII GS A r
1D 5E r
29 94 r
[ 1 0 £r £ 255
0 £t £ 255
m=20, 1
[ 1 -
r o
t @
m a
m [LSB2 O:
t
m [LSB2 1:
t » PAPER OUT LED FEED
L] r o
[ 1 t ~ 100 mse
r 0.
(m = 1), FEED
[ ] GS
NO.
EPSONK ™
136 135




GS a n
] / (ASB)
] ASCI1 a n
61 n
97 n
0 £n £ 255
ASB n '
/ ASB
0 00 0 o o
1 00 0 / a
02 2 / a
2 00 0 a
04 4 o
3 00 0 o
08 8 a
4 |- - - o
5 - - - .
6 00 0 FEED .
40 64 FEED @
7 - - - @
[ 1 :
, ' ASB i a
ASB :
NO.
EPSON BA-T500 -

( ) 137

136




DLE EOTs GS r ASB
c,
( )
/ ASB
0 00 0
1 00 0
2 04 4
3 00 0
08 8
4 10 16
5 00 0
20 32
6 00 0 FEED o
40 64 FEED o
7 00 0
NO.
EPSON BA-T500 -

138

137




! ASB
0 00 0
01 1
1 00 0
02 2
2 00 0
04 4
3 00 0
08 8
4 00 0 o
5 00 0
20 32
6 00 0
40 64
7 00 0 “
6: ' 6 ons
(
/ ASB
0,1 00 0 o
03 3 @
2,3 00 0 o
ocC 12 s
4 00 0 o
5, 6|- - - “
7 00 0 o
NO.
BA-T500

EPSON

139

138




d ASB
0-3 |- - -
4 00 0 o
5, 6 |- - -
7 00 0 o
[ ] 1-3 =
. 1-3 =
[ ] DLE EOT, GS ra Cs ’ 3.3.3
GS b n
[ 1 /
[ 1 ASCI I GS b
1D 62
29 98
0 £n £ 255
n [LSBY 0 . p
n [LSB) 1 @
L ] n a
1 n=20
] ESC !, GS !
NO.
BA-T500
EPSON :
( ) 140 139




1 ASCI 1 GS c
1D 63
29 99
[ 1 o
[ 1 ) o
GS C 0 o
6S C 1 GS C
GS C 1 GS C
6GS C 1 GS C
[ 1 6S C 0, 65 C 1, 65 C 2, GS C ;
GS f n
HRI (Human Readable Interpretation)
ASCI 1 GS f n
1D 66 n
29 102 n
n =0, 1, 48, 49
HRI
n
n
0, 48 A (12 © 24)
1, 49 B (9" 17)
[ ] - HRI [Human Readable Interpretation)
GS H HRI -
L ] n=2=0
[ 1] 6GS H, 6S k
NO.
EPSON, ™
141 140




ASCII GS h n
1D 68 n
29 104 n
1 £n £ 255
n o
1 n = 162
] GS k

® 6S k mdl...dk NUL @ GS k m n dl...dn

[ 1
L ] DASCI 1 GS k mdl...dk NUL
1D 6B mdl...dk 00
29 107 mdl...dk 0
@ASCII GS k mn dl...dn
1D 6B m n dl...dn
29 107 mn dl...dn
[ ] @O0OEmMmEG (k d )
@65 £m£ 73 (n d )
NO.

EPS ON BA-T500 -

( ) 142 141




m
@fo0 [UPC-A 11 £k £ 12 48 £d £ 57
1 |UPC-E 11 £ k £ 12 48 £d £ 57
2 [JAN13 (EAN13) 12 £ k £ 13 48 £d £ 57
3 | JAN 8 (EANS) 7£kE£S8 48 £d £ 57
4 | CODE39 1 £k 48 £d £ 57, 65 £d £ 90, 32, 36,
37, 43, 45, 46, 47
5 ITF 1 £ k (even number) |48 £d £ 57
6 [ CODABAR 1 £Kk 48 £d £57, 65 £d £ 68 , 36, 43,
45, 46, 47, 58
@ |65 |UPC-A 11 £n £ 12 48 £d £ 57
66 [UPC-E 11 £n £ 12 48 £d £ 57
67 [JAN13 (EAN13) 12 £n £ 13 48 £d £ 57
68 | JAN 8 (EAN8) 7£n£8 48 £d £ 57
69 [ CODE39 1 £n £ 255 48 £d £ 57, 65 £d £ 90, 32, 36,
37, 43, 45, 46, 47
70 [ ITF 1 £n £ 255 (even 48£ d £ 57
number)
71 [ CODABAR 1 £n £ 255 48 £d £57, 65 £d £ 68, 36, 43,
45, 46, 47, 58
72 | CODE93 1 £n £ 255 0 £d £ 127
73 [ CODE128 2 £n £ 255 0 £d £ 127
[ @]
NUL o
UPC-A UPC-E - 12
JAN13 (EAN13) 13
JANS (EANS): 8
ITF e '
NO.
BA-T500
EPSON E
( ) 143 142




n ’ n
n ’ ’
[ 1
d 1 o
) ESC 2 ESC 3 o
’ o ’ m
( 1 1 1 L L 900
o ) 1 o
[ 1
d L o
3.10 - “

CODE93 (m = 72)

HRI HRI (O HRI s
HRI HRI (D) HRI -

NO.

EPS ON BA-T500 -

( ) 144 143




HRI (W + (<00>H  <1F>H
<TF>H):

ASCII HR1 ASCI I HR1
NUL 00 0 U DLE 10 16 mP
SOH 01 1 WA DC1 11 17 [ )
STX 02 2 W B DC2 12 18 mR
ETX 03 3 mC DC3 13 19 WS
EOT 04 4 ) DC4 14 20 mT
ENQ 05 5 mE NAK 15 21 mU
ACK 06 6 mF SYN 16 22 mv
BEL 07 7 WG ETB 17 23 W
BS 08 W H CAN 18 24 m X
HT 09 9 m EM 19 25 Y
LF 0A 10 ) suB 1A 26 [
VT 0B 11 W K ESC 1B 27 A
FF oc 12 L FS 1c 28 msB
CR 0D 13 Y GS 1D 29 mC
S0 OE 14 N RS 1E 30 mD
sl OF 15 WO Us 1F 31 mE

DEL 7F 127 mT

[ 1 6S k 72 7 67 111 100 101 13 57 51

CODE128 (m = 73)

AR A

CODE128

CODE128 -

E-

(CODE A,

CODE B, or CODE C)»

EPSON

BA-T500

NO.

145 144




° g . “{"  ASCII

“pn
ASCI I
SHIFT {s |78, 53| 123,83
CODE A {A | 7B, 41 123, 65
CODE B {8 |78, 42| 123, 66
CODE C {c |78, 43| 123, 67
FNC1 {1 |78, 31| 123, 49
FNC2 {2 |78, 32 123, 50
FNC3 {3 |78, 33| 123, 51
FNC4 {4 |78, 34| 123, 52
g {{ |78, 78123, 123
“No. 123456"
: CODE B "No." CODE C .

6S k 73 10 123 66 78 111 46 123 67 12 34 56

LN

EPS ON BA-T500 -

ii{” , ,
HRI o
HRI o
(<00>H <1F>H <7F>H)  HRI s
=] ( L] o :I
GS Hs GS f,:GS h: GS w, E
NO.

( ) 146 145




ASCI 1 GS r n
1D 72 n
29 114 n
n=1, 49
n » N
n
1, 49
[ 1
DTR/DSR ’ (DSR SPACE):
. (DSR MARK)
XON/XOFF , , DSR
GS a [ASB1 GSr ASB
C o
(n = 1, 49):
/ ASB
0, 1 00 0 o
03 3 : o
2, 3 00 0 : P
00 | (12) : .
4 00 0 o o
5, 6 |- - - P
7 00 0 o o
2 3: 1 ’
2 3 @
[ 1 DLE EOT, 6S a, C
NO.

EPS ON BA-T500 -

147

146




GS v O m xL xH yL yH dl1....dk

[ 1
[ ] ASCII GS v 0 m XL XH yL yH dl...dk
1D 76 30 m XL XH yL  yHdl...dk
29 118 48 m XL XH yL YH dl...dk
L 1 OEmE£3, 48£m£EDBLL
0 £ xL £ 255
0 £ xH £ 255 1 £ (XL + xH "~ 256) £ 128
0 £ yL £ 255
OE£EYyHES 1 £ (yL + yH~ 256) £ 4095
0 £ d £255
k= (XL + xH" 256) ~ (yL+ yH " 256) (k1 0)
L ] P
m
0, 48 203.2 dpi 203.2 dpi
1, 49 203.2 dpi 101.6 dpi
2, 50 101.6 dpi 203.2 dpi
3, 51 101.6 dpi 101.6 dpi
(dpi: 25.4 {1 3} )
XL, XH, (XL+XH 256) =
yL, YH, (yL+yH 256) -
[ ] , “
L ( L L a
L] ) =]
6S L GS W )
o (m=0, 48) (m=2, 50)
, (m=1, 49) (m=3, 51) “
8 a
+ HT ( ): ESC § [ 1, ESC \ [
1 6SL ¢ ] a
ESC a ( ) o
NO.
BA-T500
EPSON -
( ) 148 147




d o 1. 0-

[ ] XL+xH 256=64
<— (XL+XxH 256) 8dots=512dots —>
1 2 3 A 62 63 64 T
65 66 67 126 | 127 128 yL + yH " 256 dots
_ k2 Lkl k 1 v
[Flelalalal 21l a]
MSB LSB
GS w n
ASCII GS W n
1D 77 n
29 119 n
[ 1 2ENE6
[ 1 o
n
«c )
n C ) C )
2 0.250 0.250 0.625
3 0.375 0.375 1.000
4 0.560 0.500 1.250
5 0.625 0.625 1.625
6 0.750 0.750 2.000
UPC-A, UPC-E, JAN13 (EAN13), JAN8 (EAN8), CODE93, CODE128
CODE39, ITF, CODABAR
] n=3
] 6S k

NO.

EPS ON BA-T500 -

( ) 149

148




5.4 ( BA-T500
FS I n
[ 1
[ 1 ASCII FS !
1c 21
28 33
[ 1 0 £n £ 255
[ 1 n
/
0 - - -
1 |- i, ;
2 00 0 .
04 4 .
3 00 o
08 8 o
4 - - _
5 |- i} i}
6 |- - ,
7 00 0 s
80 128 .
[ | )s
D ) HT
, 90 .
FS - o
FS W 6S ! ’
FS -
[ ] n=20
[ 1 FS -, FS W, GS !
NO.
BA-T500
EPSON E
( ) 150 149




[ 1
[ 1 ASCII
[ 1
[ 1
Fs
[ 1] Fs FS

EPSON

FS &
1C 26
28 38
JIS
/
BA-T500

NO.

151

150




[ 1 /
[ 1 ASCI 1 ES _
1C 2D
28 45
] 0O£n&£2, 48 £n £50
; n
n
0, 48
1, 49 (1-
2, 50 (2-
[ 1 ( ) HT
. 90°
n 0
FS 1
' 2 50s
[ 1 n=0
L ] FS 1
NO.
EPSON
152 151




FS

[ 1
[ 1 ASCI I FS
1C 2E
28 46
[ 1 .
[ 1
JIS
. ASCII .
/
. ASCII .
[ 1 FS &, FS
NO.
BA-T500
EPSON :
153 152




FS 2 ¢l c2 d1...dk

[ 1
[ ] ASCI 1 FS 2 cl c2 di...dk
1C 32 cl c2 di...dk
28 50 cl c2 di...dk
[ ] cl «c2 « cl c2
cl c2
is ) cl = 77H 21H £ ¢c2 £ 7EH
cl = ECH 40H £ c2 £ 7EH
(SHIFT-JIS ) 80H £ c2 £ 9EH
cl = FEH AlH £ c2 £ FEH
cl = FEH AlH £ c2 £ FEH
(KS C€5601) cl = FEH AlH £ c2 £ FEH
0 £d £ 255
k = 72
[ 1 , ¢l c2 o
[ ] - cl c2 s Cl c2 “
* d o 1! 0! =1
ESC ¢ 1 ’ o
[ 1 @
[ ] FS C
NO.
BA-T500

EPSON

154

153




24 dots
dl]|d4|d7 d70
....................... MSB
24 |dots
d2|ds d71 —
LSB
d3|d6 d72
[character] _LL___L_:LL __: HEEE.
A Bl ] [
dl = <00>H p4 = <03>H d7 = <O0F>H ..d10 = <0D>H d13 = <0C>H dl6 = <0D>H
d2 = <00>H p5 = <00>H d8 = <00>H ..d11 = <80>H d14 = <03>H dl17 = <83>H
d3 = <00>H p6 = <00>H d9 = <00>H ..d12 = <00>H d15 = <00>H d18 = <80>H
NO.

EPSON

155 154




FS C n

[ 1
L ] ASCII FS C n
1C 43 n
28 67 n
[ 1 n =0, 1, 48, 49
[ ] n [
n
0, 48 JIS
1, 49 SHIFT JIS
[ ] 2
JIS , :
- <21>H <7E>H
- <21>H <7E>H
SHIFT JIS ' :
s <81>H <9F>H <EO>H <EF>H
<40>H <7E>H <80>H <FC>H
L ] n=~0
NO.
BA-T500
EPSON g
( ) 156 155




FS S nl n2

[ 1
[ ] ASCII FS S n2
1C 53 n2
28 83 n2
[ ] 0 £nl £ 255
0 £ n2 £ 255
[ ] nl n2.
[h1 = 0.125 1. [n2 ©~ 0.125 1-
[ o 1
o ESC T ’
(X)o
©) ESC T ’
)=
® , 32 (255 " 0.125 )e
L 1 ni=0,n2=0
NO.
BA-T500
EPSON -
( ) 157 156




[ 1 /
[ ] ASCI 1 FS W
1C 57
28 87
L ] 0 £n £ 255
[ 1 o
n [LSB] 0 o
n [LSB] 1 o
[ 1 .
FS 1 GS / P
[ ] n=20
[ ] FS 1, GS
NO.
BA-T500
EPSON :
App.1 157




Al
1) BA-T500 .
, 10 (10/180 ) 10
' 24 o | A1)
Al
A 24"
B 17”7
24"
A 12”7
B 9’
24"
(ESC *) 24
2) [
1 1 o
3)
1.
NO.
EPSON, ™
App. 2 App. 1




A2

24V 2.4V °

3.7.3a

BA-T500 150W

EPSON

NO.

App. 3

App. 2




EPSON

BA-T500

NO.

App. 4

App. 3




EPSON

G.1
GSr <Q**Q*¥***5p
XON <00010001>B
XOFF <00010011>B
DLE EOT <0**1**10>B
ASB (1st ) <0**1**00>B
ASB (2nd  4th ) <Q**Q****>B
NO.
BA-T500

App. 5

App. 4




@ ESC L P
® ESCWwW p
® ESCT “
@ “
® FF “
@ L o
1 BASIC ( #1 ’
100 PRINT #1,CHR$(&H1B);"L";
110 PRINT #1,CHR$(&H1B);"W";CHR$(0); CHR$(0); CHR$(0); CHR$(0);
120 PRINT #1,CHR$(200);CHR$(0);CHR$(144);CHR$(1);
130 PRINT #1,CHR$(&H1B);"T";CHR$(0);
140 PRINT #1,"Page mode lesson TEST 1"
150 PRINT #1,CHR$(&HC);
1 . (0,0 200" 400 '
’ D.1 o
0,0
\ (00 200
Page mode lesson
TEST 1
400 -

D.1 1

EPSON

BA-T500

NO.

App. 6

App. 5




D.1. "lesson" "TEST 1" o 200 400
"lesson" e ’ o

o FF ’ o ’

o ESCW ’
CAN o ’

2: BASIC

100 PRINT #1,CHR$(&H1B);"L";

110 PRINT #1,CHR$(&H1B);"W";CHR$(0); CHR$(0); CHR$(0); CHR$(0);
120 PRINT #1,CHR$(200);CHR$(0);CHR$(144);CHRS$(1);

130 PRINT #1,CHR$(&H1B);"T";CHR$(0);

140 PRINT #1,"Page mode lesson 2 CAN command"

150 PRINT #1,CHR$(&HA);

160 PRINT #1,"ABCDEFGHIJKLMNOPQRST1234567890"

170 PRINT #1,CHR$(&HC);

' ESCL (100 ) = ESCW nl n8
(0,0) X 200 Yy 400 L] Os O» O» Ox 200» O»
( 110  120) p ' ESC T( 130) On

, “ page mode lesson 2 CAN command ™
* ABCDEFGHIJKLMNOPQRST1234567890 ™ ( 140  160)= FF ( 170)

=]

" ©0) 200

Page mode lesson

2 CAN command
ABCDEFGHIJKLMNOPQRST1
234567890

400

D.2 2

ESC 3

144, 1

D.2

NO.

EPSON

( ) App 7

App. 6




FF

170 PRINT #1,CHR$(&H1B);"W";CHR$(72); CHR$(0); CHR$(96);CHR$(0);
180 PRINT #1,CHR$(51); CHR$(0);CHR$(81);CHRS$(0);

190 PRINT #1,CHR$(&H18);
200 PRINT #1,CHR$(&HC);

’ "GHI" ’ D.3 CAN ’
L]
0,0
- ©0) 200
Page mode lesson
2 CAN command
ABCDEF JKLMNOP
QRST1234567890
400 -
D.3
NO.
EPSON
App. 8 App. 7




E: CODE128

E.1 CODE128
CODE128 , : 128
103 3 a
A: ASCII 00H  5FH
B: ASCII 20H  7FH
c: 2- (100
CODE128 :
SHIFT
A SHIFT B
A o SHIFT

(CODE A, CODE B, CODE C)
As B» Ca

(FNC1, FNC2, FNC3, FNC4)
o C FNC1

2-

99)

EPSON

BA-T500

NO.

App. 9

App. 8




E.2

A

NUL 00 0 ( 28 40 P 50 80
SOH 01 1 ) 29 41 Q 51 81
STX 02 2 * 2A 42 R 52 82
ETX 03 3 + 2B 43 S 53 83
EOT 04 4 , 2C 44 T 54 84
ENQ 05 5 - 2D 45 u 55 85
ACK 06 6 . 2E 46 v 56 86
BEL 07 7 / 2F 47 W 57 87
BS 08 8 0 30 48 X 58 88
HT 09 9 1 31 49 Y 59 89
LF 0A 10 2 32 50 Z 5A 90
VT 0B 11 3 33 51 L 5B 91
FF 0C 12 4 34 52 \ 5C 92
CR 0D 13 5 35 53 1 5D 93
SO OE 14 6 36 54 N SE 94
Sl OF 15 7 37 55 _ SF 95
DLE 10 16 8 38 56 FNC1 7B,31 | 123,49
DC1 11 17 9 39 57 FNC2 7B,32 | 123,50
DC2 12 18 3A 58 FNC3 78,33 | 123,51
DC3 13 19 ; 3B 59 FNC4 7B,34 | 123,52
DC4 14 20 < 3C 60 SHIFT 7B,53 | 123,83
NAK 15 21 = 3D 61 CODEB 7B,42 | 123,66
SYN 16 22 > 3E 62 CODEC 7B,43 | 123,67
ETB 17 23 ? 3F 63

CAN 18 24 @ 40 64

EM 19 25 A 41 65

SUB 1A 26 B 42 66

ESC 1B 27 C 43 67

FS 1C 28 D 44 68

GS 1D 29 E 45 69

RS 1E 30 F 46 70

us 1F 31 G 47 71

SP 20 32 H 48 72

! 21 33 | 49 73

" 22 34 J 4A 74

# 23 35 K 4B 75

$ 24 36 L 4C 76

NO.
EPSON BA-T500
App. 10 App. 9




% 25 37 M 4D 77
& 26 38 4E 78
- 27 39 4F 79
B
SP 20 32 H 48 72 p 70 112
! 21 33 | 49 73 q 71 113
" 22 34 J 4A 74 r 72 114
# 23 35 K 4B 75 S 73 115
$ 24 36 L 4C 76 t 74 116
% 25 37 M 4D 77 u 75 117
& 26 38 N 4E 78 v 76 118
- 27 39 0 4F 79 w 77 119
( 28 40 P 50 80 X 78 120
) 29 41 Q 51 81 y 79 121
* 2A 42 R 52 82 z TA 122
+ 2B 43 S 53 83 { 7B,7B | 123,123
, 2C 44 T 54 84 | 7C 124
B 2D 45 U 55 85 } 7D 125
. 2E 46 v 56 86 — TE 126
/ 2F 47 W 57 87 DEL TF 127
0 30 48 X 58 88 FNC1 7B,31 | 123,49
1 31 49 Y 59 89 FNC2 78,32 | 123,50
2 32 50 YA 5A 90 FNC3 7B,33 | 123,51
3 33 51 [ 5B 91 FNC4 7B,34 | 123,52
4 34 52 \ 5C 92 SHIFT 7B,53 | 123,83
5 35 53 ] SD 93 CODEA 7B,41 | 123,66
6 36 54 n SE 94 CODEC 7B,43 | 123,67
7 37 55 _ 5F 95
8 38 56 N 60 96
9 39 57 a 61 97
3A 58 b 62 98
; 3B 59 o 63 99
< 3C 60 d 64 100
= 3D 61 e 65 101
> 3E 62 T 66 102
? 3F 63 g 67 103
0] 40 64 h 68 104
A 41 65 i 69 105
NO.
EPSON BA-T500
App. 11 App. 10




B 42 66 i 6A 106

C 43 67 k 6B 107

D 44 68 1 6C 108

E 45 69 m 6D 109

F 46 70 n 6E 110

G 47 71 0 6F 111

00 00 0 40 28 40 80 50 80
01 01 1 41 29 41 81 51 81
02 02 2 42 2A 42 82 52 82
03 03 3 43 2B 43 83 53 83
04 04 4 44 2C 44 84 54 84
05 05 5 45 2D 45 85 55 85
06 06 6 46 2E 46 86 56 86
07 07 7 47 2F 47 87 57 87
08 08 8 48 30 48 88 58 88
09 09 9 49 31 49 89 59 89
10 0A 10 50 32 50 90 5A 90
11 0B 11 51 33 51 91 5B 91
12 0C 12 52 34 52 92 5C 92
13 0D 13 53 35 53 93 5D 93
14 OE 14 54 36 54 94 SE 94
15 OF 15 55 37 55 95 5F 95
16 10 16 56 38 56 96 60 96
17 11 17 57 39 57 97 61 97
18 12 18 58 3A 58 98 62 98
19 13 19 59 3B 59 99 63 99
20 14 20 60 3C 60 FNC1 7B,31 | 123,49
21 15 21 61 3D 61 CODEA 7B,41 | 123,65
22 16 22 62 3E 62 CODEB 7B,42 | 123,66
23 17 23 63 3F 63

24 18 24 64 40 64

25 19 25 65 41 65

26 1A 26 66 42 66

27 1B 27 67 43 67

28 1C 28 68 44 68

29 1D 29 69 45 69

30 1E 30 70 46 70

NO.
EPSON BA-T500
App. 12 App. 11




31 1F 31 71 47 71
32 20 32 72 48 72
33 21 33 73 49 73
34 22 34 74 4A 74
35 23 35 75 4B 75
36 24 36 76 4C 76
37 25 37 77 4D 77
38 26 38 78 4E 78
39 27 39 79 4F 79
F_M-T500
M-T51x M-T52x M-T53x M-T54x
150 / 150 / 150 / 150 /
(5.9 /) (5.9 /) (5.9 /) (5.9 /)
58 {2.28 60 {2.36 79.5 {3.13] 82.5 {3.25
} ¥ ¥ }
54 {2.13 56 {2.21 72 {2.84 80 {3.15
} } } }
432 448 576 640
8 / 8 / 8 / 8 /
(203 dpi) (203 dpi) (203 dpi) (203 dpi)
A (12 7 24) 36 37 48 53
B (9 24) 48 49 64 71
(24 © 24) 18 18 24 26
dpi: 25.4 {1 }
NO.
BA-T500

EPSON

App. 13 App. 12
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- While initializing the printer mechanism and loading the paper
- During the self-test
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EPSON, ™
App. 14 App. 13
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App. 15 App. 14
( ) pp pp




5)

FEED

6)

PF SW

ASB-

ASB (

ASB=

EPSON

BA-T500

«C )

NO.
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